(]

Pa0A.

a=100
1008A

22818

=
"E =0
|4 BEL =59, HY AL, OZ H&D
E X|
/o

« J0IE 20! =04 100 m

D Otg RO JIs

« EHEIF JHEE AHOISO0IHLE Tuchel T4/T7 HUEHIE 2l HOIEZ

40,5

Tuchel HYE 7P

I
25
1

30

ia
=2

98

210

252

oz
« iR ADGHD FOL HI| ™A
F2 3Cc MP100A MP400A
= e 54 SEEE
0~1VDC 0(4)~20 mA
A2 -40~60 C/0~100 %RH
HUC(23 T+5K) +1.5 %RH(10~95 %RH)
+2.5 %RH(10 %YRHECH 1 95 %RHECH =2 )
WIPS S ¥ 22X AX
=3 metolg PH1002 OI% 2% - HIJIZ &= H8 &2 M5
== OIAIZ 2219t 20 um 0l &t [0 Ol 2H
SEts NS
c ZH S3A XHE 2 RS12T/RS24T
c NI SEA IHE 2 AC1002
JlE A3
« ROTYRONIC & ZY¥A
< 20101 O+l 2H
s A 2HZEA
o Kl A2l
« WEI|: ER-25
+ 10 %RH W8 & EF: EA10-SCS
+ 35 %RH NI & E= EA35-SCS
+ 80 %RH WIFE && B EA80-SCS






